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. faces then
. the number of sur
(vi) If x be the number of edges of a parallelopiped and y be té%

‘) e ? -
for what least value of a, (x + y -+ a) is a perfect squar

R 23 anlih

Tl : linders'is 2 : 3 and the
(vii) The ratio of the length of radius of two solid right circular cylin dgéﬁrfaces E3E
ratio of their heights is 5 : 3. Find the ratio of the area of curved sl v 1

(Ad E
h .
.. n+103 o 4 the value of n.
(viii) The Median of first (2 + 1) natural numbers is A Find i

X

o8
LY

"':"'the total interest
(ix) If the annual rate of simple interest decreases from 5.5% to 4.5%, fheJI__l__._,s |
is decreased by Rs. 250. Find the capital. a3

v nating 5% of the
(X) The Capital of 4 and B in a business are in a ratio 3 : 2. After dq_??tlng °
profit B receives Rs. 798. What is the total profit ?

[=]
(Xl) It _x_::X:_Z_ then find the value of 3x +4y+ 8z : %
s e x+3y [=]:
(xi) If x oc \/; and y = a?‘, when x = 24 then find x2 : Y-

5. Answer any one question : 3

(1) In ajoint business the Capital of Samar and Mohim are Rs. 20,000 each. After 6 months
Samar invests Rs. 5,000 more, but Mohim withdraws Rs. 5,000. At the end of the year
if the profit is Rs. 32,000 then find the share of the profit of Samar'and Mohim,

(ii) Divide Rs. 21,866 into two parts such that the amount of the first paii:f for 3 years and
amount of the second part for § years are equal at the s

ame rate of 5% compound
interest. ExE M
b L
6. Answer any one question :  [W]& 3
(i) Divide 16 into two parts in such a way that twice the square of thé greater part is
164 more than the square of the smaller part. ®)
(ii) Solve : EEEI. :
E :l% = .
+3  x~3 ' - 'J
L A =21, (x#-3,3) '
X-3 x+3 2 '
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7. Answer anyr,
A 0 1
Yro"e question .

W, 3
() If [x]i.i":i‘-}oc SR
3 b G ;—;1, then show that x ocl_ -.-EFE.I.
i ¥y E_ "
(i) 1f x S£4V15
5 + 45 then find the value of X+ V20 , x+V12
K== JE X = JI_Z
8. Answer anyrone question : 3
() OB +e-0q =
: s a)'x%(C+“‘b)}’z(a+b—c)z=2,thenprovethat
EEISS:E;! [l + l] [ 1 iyt L8 ] (T
- & - S = — 4 —il=
[ﬁ%&ﬁ 2. 2y i e
oy 10 X @+ 2 2 .2
() If =< , then find the value of X~ —2_.
Yo ra—2 £ty
9. Answer any.one question : S
(1) Proveithat in a cyclic quadrilateral opposite angles are supplementary.
(ii) State and prove Pythagoras theorem. v@%ﬁ!
_ o) ;
10. Answer any-one question :

AB is-the diameter of the circle with centre O. From a point P on the
cular PN is drawn on A4B. Prove geometrically that

(1)
circles: a perpendi
pPB% =/4B.BN.

(ii) O is the circumcentre of the triangle ABC.OD L BC. Prove that ZBOD = £BAC.

i 5
11. Answer any one question :

(i) Find the value of 2J§ geometrical]y.

> incircle
(ii) Draw 2 triangle whose sides are of lengths 6 cm, 8 cm and 10 cm. Draw the 1ncl

of this‘triangle. EE]IEE
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[Additional Questions for External

:_.‘II\ 2}(3:6
16. (a) Answer any three questions : =

o .. 1 1 pinl the ratio of their
[EIRE (i) The ratio of portion of profit of two friends is S E

capitals.
e s, : 2
(11) Find the mean proportion of xy2 and xz".

(ii1) The sum of length, breadth and height of a cuboid 18 10 em aﬁd the length of the

diagonal is /32 cm. Find the area of the lateral surfaces of-the cuboid.

(1v) Find x, if sin x = cos (x — 20°). Y&

E. :l":ﬁ
(b) Answer any four questions : Ixa=4

(1) If the roots of a quadratic equation ax + bx + ¢ = 0 (a # 0) are reciprocal and

opposite in sign. Find (a + ¢).

(11) Find the value of angle in degree made by the tangent of a cirele with the radius
of that circle at the point of contact.

(i11) Write a difference between the geometric angle and trigonometrical angle.

5

(1v) Find the ratio of length of radius and perimeter of a circle. M
(v) State True/Faise :

[E]%[=] “The equal chords of a circle are at equal distances from the centre of the circle”.




